


H7]

@ 2x 9F —5x © x%y 9} 3xy? © -137
® —%9}—% @ —-4x3 1} 3x3 ® x 9 -2y
® 9,0, @ 9,06, ® 9,0,e

@ 9,0, ® 9,0,6.6,0




O Al T &2 220

rlo

@© (-2x) x4 =2x
@ 3x+2x=10x
® 3x—6x=-3x2
@ (2x-6)+(-2)=-x+3

® (3x-5)x(-4) =-12x-20



4. A:_5x_4’B:_x+3%q’_2A+3B%x°ﬂ%§}&]g§_
LHERH Y

D -Tx+10 @ -7x-10 @ Tx+ 10

@ Tx+17 ® 7x-5



ol®@ Ao 2x + 52 dafoF & AL FEIA WA Y 4x — 6 ©]
s let. &7 AdtE Ae 1=H?

@ 4x-6 @ 6x-1 ® 6x+3

@ 8x+4 ® 8x+9



@ 5y3

@ 8x3y?

@ 7y

D -x2%y



1
x+8) “ 16

1

4

(31







Fa= o, x o Al y 9

5

[6x—{3-2(x+y)}] & It
ol ?t= FohH?

Ay —
A

& &

o}
A

9.

® 2

@ -11 ® -6

O -12



4x3 +6x -7 o

10.

@ x> o] AlFE 6 oIt

@ 3 443, 6x, -7 ©]t}.

3 olrt.

O
-

® x=1<%2 m, A9 2%



11, of® AelA a- 2 2 wjofo} & 21 2Este] HAEL 3a + 5b 7
wlet ol vk A4rE: A

i =

D —a+5b @ 4a-3b ® 4da+ 3b

@ a+9b ® 3a+b



12. b8 5 AR 2t (—5)) x 026+ 05) 9 S

@ (—%) X (2x + 5) @ (—%x—l) +0.6
R L)



i)
oo
>
o
)
au
=
_O|L
38,

@ (-3)x2x
® -(5x+2)+2(x+y)

® -2(3x+3)

= o x o A7t P 2 A2

@ 7x(—x+2y)

@ (10x+4)+%



